
Chemistry 30
Name:___________________


REDOX Quiz A


1. Use the oxidation number method for balancing to balance the following equation as well as determine the concentration of potassium permanganate if  it is titrated with 10.0 mL of a 0.500 mol/L ethanol solution:

	Titration of potassium permanganate with ethanol
	1
	2
	3
	4

	Initial reading (mL)
	0
	11.6
	23.0
	35.5

	Final reading (mL)
	11.6
	23.0
	35.5
	47.0

	Volume used (mL)
	
	
	
	


___ CH3OH(l)  + ___ MnO4–(aq) + ___ OH– (aq)  ( ___ CO32– (aq) + ___ MnO42– (aq) + ___ H2O(l)

2. Use the oxidation number method for balancing to balance the following equation:
   As2S5(aq)  +  ClO3-(aq)  + H2O(l)  (  H3AsO4(aq)  + H2SO4(aq)  +  Cl-(aq) 

3. Use the oxidation number method for balancing to balance the following equation:
PuO2+(aq)  +  H+(aq)  →  PuO22+(aq)  +  Pu4+(aq)  +  H2O(l)


___ As2S5(aq)  +  ___ ClO3-(aq)  + ___ H2O(l)   (  ___ H3AsO4(aq)  + ___ H2SO4(aq)  +  ___ Cl-(aq)  








___ PuO2+(aq)  + ___ H+(aq)  →  ___ PuO22+(aq)  +  ___ Pu4+(aq)  +  ___ H2O(l)











